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Write short notes on any two of the following.
(a) Cooling of transformer

(b) Shaded pole motor

(c) Scott connection

(d) Losser in a transformer
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Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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9.

10.

A 3-¢, 6-pole , 50 HZ induction motor develops
a maximum torque of 30 Nm at 960 rpm Calculate
the torque produced by the motor at 6% slip. The

rotor resistance per phase is 0.6
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What is regulation of a transformer ? Describe the
open circuit test and short circuit test of a

transformer.
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What do you mean by universal motor?
Explain its characteristics and applications. 8
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The speed of an induction motor depends on;
(a) Number of stator poles

(b) Stator supply frequency

(c) Input voltage

(d) All of the above
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Which of the following ac motors is widely
used:

(a) Squirrel cage induction motor

(b) Slip-ring induction motor

(c) Double cage induction motor

(d) Synchronous motor
P.T.O
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GROUPC :
(vi)
Answer all Five Questions.
_ 8x5=40
gt dfg gel & SR T |
7. Explain the different type of torques of
synchronous motor.
8

(vii)
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OR (3121a1)
(vii)
Why starter in needed for induction motor? Explain

with a neat sketch the working of a star -delta

starter for 3-¢ induction motor.
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The actual speed of rotor of an induction
motor is given as:

(a) Ns

(b) (1-S)Ns

(c) SNs

(d) 0.96Ns

fedl URoT HieR & X B adfdd
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(1) Ns
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(|) SNs

(&) 0.96Ns

An infinite bus-bar has:
(a) Constant voltage
(b) Constant frequency
(c) Infinite voltage

(d) Both (a) and (b)
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4.

Deferential between synchronous motor and x)
induction motor.
4
JeadIferd Al ¢aH URIeR & 419 Siav
wWee P |
OR (31214T) (xi)

The no-load current of a transformer is 5A at 0.25
power factor when connected to 235 volt 50 Hz
supply. The number of turns on the primary
winding is 200. Calculate

(a) maximum flux in the core &

(xi)

(b) coreloss.
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Define efficiency of a transformer. Establish the
condition for maximum efficiency of transformer. 4
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The magnitude of armature current drawn by
a synchronous motor operating at unity
power factor is;

(a)Zero

(b) Minimum

(c) Maximum

(d) None
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The speed of a synchronous motor can be
varied by varying its:

(a) Excitation

(b) Supply voltage

(¢) Supply frequency

(d) Load
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Answer all Five Questions.
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2. Define 'Slip' and 'Synchronous speed' in an induction
motor. Establish a relation between them. 4
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Induced emf in a transformed winding does
not depend on:

(a) Flux

(b) Frequency

(c) Number of turns

(d) Supply voltage
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A transformer transforms :
(a) Voltage

(b) Current

(c) Power

(d) (a) and (b) Both
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